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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-2 ( Subsidiary-2 ) 

Yá˚] Yy [ S-2 : International Trade & Development 
Economics (SEC-5) ] 

a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) %X«]ÁXac˜ Âc˜jªJÙÁÃ[˝-C_›X Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 
=dYÁV„XÃ[˝ =YEıÃ[˝„SÃ[˝ %Á◊W˝EıÓ UÁEı„_ %◊W˝Eı 
Y◊Ã[˝]Á„S B =YEıÃ[˝S [˝Ó[˝c˜÷Tˆ c˜Ã^ A]X V–„[˝ÓÃ[˝ 
=dYÁV„XÃ[˝ Âl˘‰y T«ˆ_XÁ]…_Eı a«◊[˝W˝Á Â\ˆÁG UÁ„Eı* 
=Y◊Ã[˝=N˛ [˝N˛[˝Ó◊ªRÙOÃ[˝ aTˆÓTˆÁ Âc˜jªJÙÁÃ[˝-C_›X Tˆ„√º¯Ã[˝ 
aÁc˜Á„^Ó %Á„_ÁªJÙXÁ EıÃ[˝”X*  

 (F) %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ ÂU„Eı =‡…ˆTˆ _Á\ˆ [˝_„Tˆ ◊Eı 

Â[˝ÁMıÁÃ^ ? Ac˜O _Á„\ˆÃ[˝ Y“E ı◊Tˆ ◊EıÃ[˝÷Y TˆÁ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ◊Eı\ˆÁ„[˝ Ac˜O =‡…ˆTˆ _Á\ˆ %e`G–c˜SEıÁÃ[˝› 

ÂV`m◊_Ã[˝ ]„W˝Ó [˝◊∞RÙOTˆ c˜Ã^ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

   4 + 6 + 10 

 (G) Ã[˝ÁLÿëˆ X›◊Tˆ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? Ac˜O X›◊Tˆ ◊Eı\ˆÁ„[˝ 

Y“„Ã^ÁG EıÃ[˝Á c˜Ã^ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* ÿëˆÃ^e◊y‘Ã^ 

◊ÿöˆ◊TˆEıÁÃ[˝Eı Ã[˝ÁLÿëˆX›◊Tˆ A[˝e ◊[˝„[˝ªJÙXÁ]…_Eı 

Ã[˝ÁLÿëˆX›◊TˆÃ[˝ ]„W˝Ó YÁUÔEıÓm◊_ =‰{F Eı„Ã[˝ %Á„_ÁªJÙXÁ 

EıÃ[˝”X*  4 + 6 + 10 

 (H) aÃ[˝EıÁÃ[˝› %ÁÃ^-[˝ÓÃ^ X›◊Tˆ ◊XW˝ÔÁÃ[˝S a+„EÔı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ^«N˛Ã[˝Ár—Ù›Ã^ Ã[˝ÁLÿëˆ [˝Ó[˝ÿöˆÁ EıÁ„Eı [˝„_ A[˝e AÃ[˝ 

Â^Ï◊N˛EıTˆÁ ◊Eı %Á‰ªK˜ ? ^«N˛Ã[˝Ár—Ù›Ã^ Ã[˝ÁLÿëˆ [˝Ó[˝ÿöˆÁÃ^ 

ÂEı≥V–›Ã^ aÃ[˝EıÁ„Ã[˝Ã[˝ [˝ÓÃ^ a+„EÔı VÁ◊Ã^±ºˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 5 + 5 + 10 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) Adam Smith-AÃ[˝ ªJÙÃ[˝] [˝ÓÃ^ YÁUÔEıÓ X›◊Tˆ◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X* Ac˜O X›◊Tˆ Ricardo-Ã[˝ T«ˆ_XÁ]…_Eı 

[˝ÓÃ^Tˆ√º¯ ÂU„Eı EıTˆªRÙOÁ ◊\ˆ~ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 
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(F) ◊[˝◊X]Ã^ c˜ÁÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ◊[˝◊X]Ã^ c˜Á„Ã[˝Ã[˝ 

◊ÿöˆ◊Tˆ`›_TˆÁ ◊Eı\ˆÁ„[˝ [˝LÁÃ^ Ã[˝ÁFÁ c˜Ã^ TˆÁ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 6 + 6 

(G) Â_X„VX ◊c˜„a„[˝ Y“◊TˆE«ı_TˆÁÃ[˝ EıÁÃ[˝Sm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* Ac˜O %a]TˆÁ V…Ã[˝ EıÃ[˝ÁÃ[˝ Yà˘◊Tˆm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 6 + 6 

(H) ∫RÙO_YÁÃ[˝-aÓÁ]«„Ã^_aX Tˆ„√º¯ Y◊Ã[˝‰Y“◊l˘„Tˆ Â]RÀÙOLÀ_ÁÃ[˝ 

E…ıªRÙOÁ\ˆÁa %Á„_ÁªJÙXÁ EıÃ[˝”X*  

(I¯) %Á‹ôˆL¤Á◊TˆEı %UÔ\ˆÁâ¯ÁÃ[˝ A[˝e ◊[˝`ü[˝ÓÁ·¯ GPˆ„XÃ[˝ =„ï`Ó 

A[˝e TˆÁ„VÃ[˝ EıÁ„LÃ[˝ T«ˆ_XÁ]…_Eı %Á„_ÁªJÙXÁ EıÃ[˝”X*  

  6 + 6 

(ªJÙ) %[˝]…_ÓÁÃ^X [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? %[˝]…_ÓÁÃ^X %Á]VÁ◊X 

C Ã[˝äÁ◊XÃ[˝ =YÃ[˝ ◊Eı Y“\ˆÁ[˝ ÂZı„_ TˆÁ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 6 + 6 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f  

  6 × 4 = 24 

(Eı) ]«N˛ %UÔX›◊Tˆ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ÂEıX V«◊ªRÙO ÂV„`Ã[˝ 

]„W˝Ó [˝Á◊SLÓ c˜Ã^ ? Ac˜O Y“a„Ü ◊Ã[˝EıÁ„QÔˆÁÃ[˝ Tˆ„√º¯Ã[˝ 

y”◊ªRÙOm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(F) %Á]VÁ◊X £íı EıÁ„Eı [˝„_ ? AÃ[˝ %UÔÍX◊TˆEı 

Zı_ÁZı_m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 3 + 3 

(G) EıÃ[˝Á„Ã[˝Á„YÃ[˝ X›◊Tˆm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* ◊Eı\ˆÁ„[˝ 

c˜ÁCÃ^ÁQÔˆ %ÁÃ[˝ [˝ÁCAX a«◊[˝W˝Á X›◊Tˆ Y“„Ã^ÁG Eı„Ã[˝ EıÃ[˝ 

[˝∞RÙO„XÃ[˝ a]aÓÁÃ[˝ a]ÁW˝ÁX Y“ÿôˆÁ[˝ Eı„Ã[˝‰ªK˜ TˆÁ ÂVFÁX* 

(H) Ã[˝ÁLÿëˆ [˝Ó[˝ÿöˆÁÃ^ ={∂ëˆ %a]TˆÁ A[˝e %ÁX«\…ˆ◊]Eı 

%a]TˆÁÃ[˝ YÁUÔEıÓ a◊[˝ÿôˆÁ„Ã[˝ =VÁc˜Ã[˝Sac˜ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(I¯) ◊Eı ◊Eı ◊[˝bÃ^ ◊[˝◊X]„Ã̂ Ã[˝ =YÃ[˝ Y“\ˆÁ[˝ ÂZı„_ TˆÁ 

◊[˝ÿôˆÁ◊Ã[˝Tˆ \ˆÁ„[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* Y◊Ã[˝[˝Tˆ¤X`›_ 

◊[˝◊X]Ã^ c˜Á„Ã[˝Ã[˝ a«◊[˝W˝Ám◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 3 + 3 

(ªJÙ) AEı◊ªRÙO %ÁV`Ô EıÃ[˝X›◊TˆÃ[˝ ]«FÓ =„ï`Óm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X*  

(ªK˜) aÁ]Á◊LEı V–[˝Ó [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ◊Eı\ˆÁ„[˝ aÁ]Á◊LEı 

V–„[˝ÓÃ[˝ VÁ] ◊XW˝ÔÁ◊Ã[˝Tˆ c˜Ã^ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(L) Y“TˆÓl˘ A[˝e Y„Ã[˝Ál˘ Eı„Ã[˝Ã[˝ ]«FÓ È[˝◊`rÙÓm◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 3 + 3 

(Mı) ÿëˆîEıÁ_›X C V›HÔ„]Ã^ÁV› aÃ[˝EıÁÃ[˝› @„SÃ[˝ a…ym◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 3 + 3 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Discuss Heckscher-Ohlin theorem giving 

assumptions "A country will enjoy a 

comparative advantage in the production of 

that commodity which requires relatively 

large amount of its abundant factor of 

production." Examine the validity of the 

statement using Heckscher-Ohlin theory. 

(b) What do you mean by gains from 

international trade ? Discuss the nature of 

gains from trade. How is the gain from 

trade distributed among the participating 

countries of international trade ? 4 + 6 + 10 

(c) What do you understand by fiscal policy ? 

Explain its applications. Elaborate on the 

difference between the Built-in-stabiliser 

and discretionary aspects fiscal policy. 

  4 + 6 + 10  

(d) Explain the principles of Public Finance. 

What do you mean by federal revenue 

policy and what are its rationality ? In a 

federal revenue system discuss the 

responsibility of central government.  

  5 + 5 + 10 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss Adam Smith's theory of Absolute 

Advantage. How is it different from the 

Ricardian theory of comparative cost ? 6 + 6 

(b) What do you mean by exchange rate ? How 

is the stability in exchange rates 

maintained ? 6 + 6 

(c) What are the causes of unfavourable 

Balance of Payment ? Discuss the different 

measures to correct disequilibrium in 

Balance of Payments. 6 + 6 

(d) Discuss Metzler's Paradox with reference to 

Stolper-Samuelson theory.  

(e) Discuss the objectives of setting up of 

International Monetary Fund and World 

Bank. Distinguish between their functional 

approaches. 6 + 6  
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(f) What do you mean by devaluation ? 

Discuss how devaluation of foreign 

currency in respect of domestic currency 

influences import and export. 6 + 6 

3. Answer any four questions  : 6 × 4 = 24 

(a) What do you mean by open economy ? Why 

trade takes place between two countries ? 

In this context discuss the shortcomings of 

the Ricardian theory. 2 + 4  

(b) What is import tariff ? Discuss its economic 

implications. 3 + 3  

(c) Discuss the policies in levying taxes. 

Explain proposals to solve out the problem 

of tax distribution as proposed by Howard 

R. Bowen through applying benefit 

approach. 

(d) Distinguish between vertical and horizontal 

fiscal imbalances citing suitable examples. 

(e) What are the factors influencing exchange 

rates fluctuations ? Discuss the advantages 

of variable exchange rate system. 3 + 3 

(f) Discuss the objectives of any ideal tax 

policy.  

(g) What is public good ? How is the 

equilibrium price of a public good 

determined ? 2 + 4  

(h) Discuss the significant characteristics of 
Direct and Indirect taxes. 3 + 3 

(i) Discuss about the sources of short-term 
and long-term public debt. 3 + 3 

    


